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(i) re=31.5M Area =AR2 =

22x51.5 x 31.5
=22x4.5x31.5

= 3118.55qm(Ans)
(ii) d =112cm =>r=112 =56a
I

Area :TR2 =

22 x56x56
=22x8x56:9856squ

(ii) E2:286cm=>25R =2860 -> 2x22 x
x =286

=>r =13x7 =91

I
Area :Ar2 =

22x1x1 =11x13x1
=183 =

5506.55qe

(iv) eyees:44m -> Ar = 44-22xr
=44 => r =14m

Area =pre =

22x 14x14
=22x28=616sqm

2.

(i) Given prcd=154sqm (ii) Given Tr22:7546

-) 23x re2
=15 >22xx2: 7546

=>re2 =7x7 =) r2 =343x7

=>R =7 -Y9x7x7 => r =440

d =2x7 =14m I 2ax:2x22x49=308m



3.

ii) to "re- rx28x28
a =x22x4x28

=)a =24 =821tsqa
3

(ii) FR22:7546 0 =1850 Sorre
->--546-47546 =a =a =

7x3775
=a =

x) =
2200H

12

(iii) 2nr= 396 b =36m
area:
I
eve

=>

2x22x M
=396

=5.36x63
=18x63

=) r =9X7 =63
= (20 -2)63 =1260 -126

=1134
(iv) 1 =66m 0 =100

So "Ean*r* 2x2axx
=

6860-n
=54

a=x66x54 =33x54 =11 x162 =

1782sqm



4.

(i) a=1840sqm 0 =1200

-000:red* 22xx2
=1848 x0
I 120

=>r2=84x3x7 =6x4x21

=) R =42m

(ii) a =48.4sqda e =121m =12-1 de

acter -> r=20:2x=am
5

(i) M=36m a =

7925qm,800" rez
->B" 36x36" 0 =

=7or

(ii) a=924 ar2=2464 0" r*
->B:y =8+0 =8x360 =1350

(iii) a =2311 =22m

-When iwasare=>) 0 =600



6.

9a/42 SE258:
(1) IX94492X&4*2

-

1)
IXG4*2452494224
-so*(R2-R2)

(i) 4*2452:25m 942:8Om

Req. Ans=1x25x80 =1000sqm

(ii) M*2 **: 50cm a4*2959:24a
Reg Ans= 1x50x24=600sqen



To

(i) any AGA and9441641248,I
A

98968=7TR2 :nI

r=> r2*2r-21 O

(ii) reogu ady& 4 641948
B

C
-

9886Atgem Tr2
=n

-> r =( =2r =2
A D

ario, ay'a'Go ac vaa

rea:2-7 a=r2
B C

(iii) a *a AGN Ga, y
&a 2:1 941568 Mag A

I

-48 Gigar2 =m => re=
AAB(0) &881 =AB =AO+OD

=8

AO:OD =2:1 -:0R =2:1

-oD =I AD=I B D 2

ButAD =19=7 z
=a a = A- IBu



8.

R1 =42cm R2=56c R3=?

Given ARP + TR2=TR32
=) x (RY+R2) =AR3=> RIRC=Rs

R32 =422 +562 =1764 +3136 =4900
R3 =70cm

Alternative 422+562= Ra
-) (14.5)+ (14.4)? Rg2

as we know 13,4,5) I
an tripletscythagora

hence (4x312+ (14x4)2 will be equal to
714x572

=>R32 =(14x5)2=> R3 =14x5= 70em

9.

Given adigan satyate=9 Gege
=>a2 =TR2 => a =

T =

b=2 -xG ·

38 Mo

a = => ore=2=
are ** (Am)



10.

922941y =5cm =i Gate =TR2

⑨8 *2q4=R a898G:R
According thequestion: TR2 = 9AR2

=>R2 =912 => R
=3M =3x5 =15cm

110

998941AG =re

According tothe question:2Ar = nre2

- 2r
=r2 => r =28

12.

ABCD ggg Gitrgtne-sas A D

Let's assume sight Si
I &a = a 8. 32

ABCD & a S,& 9H
800 AB=BC =CD =AC & Girly B C

-28 M112 Gin ** ***

G Glyn =a2 =2 =7a =r

= ra =c*
->Sea:SC-

agy gly:=32941
=>S22 94-



13.

Let's assume 922 gill =re unit

May A& also Graly-a
unit

y911682 R2 =1592 --
-=a (proved)

14.

& Gax
=Tr+2r =>r(x+2) O
-91116r(x+2):252 I

->re(2 +2) =252
=r(22):252

=) rex36 =252 = r =7x7 =49

& Ge Gettin
=Tr
=1 x 22x49x49=11X7x4I

=11x343 =3773squ



15.

Egg M2**:Ar+2r

According to the question ~
pre+2r =2r+44m L

Engineora*exr=
num stem
I =1x2x14x1

=11X2x1

=>(1x 28

=308 sqm
16.

& Gitytn:TR2=27725qm
I

=>tx22xr2
=2772 =r2 =

252x7

=>re2 =36 X7x7 => r =6X7 =42m

rgY421x1 =Tr+2r =

22x6x7
+84

= 132 +84 =216m

9l8 64918% =216X37 =216x140-3)-8540
>wa
=79.92Bail



170

9419922941=R =

5 =28a

B942944/=r=42=21 am "
******I

&I518 Gagte=TR2-Trez
8

re

x

x
= 4(R2- 122) =7(202-212) "
= (28+21)(28-21) - 549x7 R,"," * X

x
x

=

2x49X7 =90x11 =10788qun

18.

⑨& MIXy:32 =16m = R
I

215124505294 =r *****
******

&Id Gigan:*(R2-R2) = 35259W X

8

re

↓

,
x

X
X"

=>22(162- x2)
=352

R,"," * X

=>(62- r2)
=16x7 =256 - r2=112 x

x

=> re2=256-112
=144 => r=12

&1919) 15:R
- R =16-12: 4m



19.

Let's assu

&(1) S,2 9T=R 9912) Se& alyl=re

S,& MT:SAR See MET:2aR
SIG GgEP:AR ·28 Grg:Tic

Given:GAR+2AM =2200m

->2x22x(R+4) =220 => R+R =35 -is
I

Again TR2 - TR2=770sqen

=>2z(R2-r2) =778 => (R+ r) (R-r) =35x7

->35(R -r2) =35x7=) R-r=7 - (ii)

sowing (i) R(ii) 2R=42=> R =21 & r=14



20-

yay4162:961x=928x
asiging bingon: 484 squ

11 gly:neu
=22cm

11 &**N1 =4x22cm

-

** MR*TN72AR =

4x22-72x22xR=4x22
=) r =14C

922 Gitayate =prez: 2x1xM= 616squn
21.

&* C,&C,& aT&BgMt= 4:5

⑨UIIG& 9gce=4;5

C,& q14G=4n C22 941: 5n
C,8 Gaga 129 Gticts:115n)2
=TR2 =*2542 =

22x25x7
=

550sqe
=

22x4nxUn
=35

=) N2 =7



22.

Inor realy A& Rul A

-Gay 2:16824199682

-'O' ADG 2:168 RIM62 -> 8

=>AO:OD =2: 1

:) A0:AD =2:3 B B
C

70932M11
Given 1all brain is an

A& &*t =

BXaly:bxUE=2
989*G: gIXZ=icur

⑨& Gityte=Tr2=2X1X1=616sqe



23.

19 1892 Gay A

-81 2:1684109582

->
O

8'point AD 2: 1602 RIM*42
=>A0:OD =2: 1 B C

B
- OD:AD =1:5 O 1 & 2589&2 941a
given 95898 Gag=154 squ

=>Tr2 =

154 =7 xM2 =154

=>R8 =7X7
=>M =7m = OD

=>AD =3x 0D =21m

May Ad aly'a'Gyo 2041:1a
=21

=>a =x2
13

*Nay && M9*(1 =30:3X2=42V3m



24

-

Given: PY= 3 AXB Y

OPY2 GAg8:99861.4.
> &

=440Xr =9
I

8
-

=) IX 3 AXB XR
=9

-

-7 AXBxre
=3 & 614.

A B
X

25.

12 M24:Gig1
91864912 total og=751- 918649/249 =1.5/m

Gag:: :5 =50m

⑨1- O
AXB + 2M

C -

=Or+2r => AR+2R
=50m 900

nefth,50Hoy)xe
X

B

-

X7 =14m



26.

Cl C2
A ABC S Aly 1&
a grty=7am+7am=14cm A zum

X

zom B
I IA& Gegen: **)? Isx I

⑭
S

Ayo GautamzaGit Y 2
M

=GYR&Gi I
A*& Grg =

xxR
=

x*x7x7
↳3

marched regional Gatton:X 3xx*x7x7
=
vBx7x7 - Gx7x7 =49(83 -1)

-4158-495,15x6 =18=78yee



27.

an Gagon-1132-122) 13am

=5(13 +12) (13-12) =25π
·

ya,11162 12am

Gem & Gat
=>25π =TR2 -> R=5em

28.

0

drea:Extend OAto pointM -600

extend or topain N
R

Line it OM=ON
- 8,

OMN I ANGLY A A i B

⑦49 Agagoyy92
! T -
M X N

Ganjai,guddown 2:16 919968
given:1905 Galgaim: 95=Tr2 => r2 =9 =m =3

0,x =3 =>0X =30,X =

9

92Gyg-er=xR2 =xx9x9
Req. Ans.*** 3:2



29.

&M4 GgP=

9) OABRG- 0

AOAB&Gi 8 8
600

8his here - 19 A IIIIIIII B
=

Ix5x8x8 - 13x8x8
-

( - ():32/- 1]
=32(1.047 - 0.866):32x0.181 =5.792sqem

(ii) AUAB a AAGAl
0A2 +0B2 =AB2

0

ter - 1XOAXOB 8
<

- 2

=

5x7x8x8 - 5x8x8 Or
A IIIIIIII B

=32(5 - 1) =32x)- 1)
=16 (3.141-2) =16 x1.141 =10.256squ



30.

&M4 GgP=
9) OABRG-
AOAB&Gi 0

-Here -are zoa 20a

·OAB a gy A IIIIIIII BL
*699 I

=Ore.r -1,(OA)2=Ix*x20x20
-

x20x20
= 20(5 - 53] =200/4 - 18I
=200(1.047-0.866] = 200x0.181=36.2squn



3 1.

&M4 GgP=
9 OAB&G
- A OAB&Gi 0

>

10w 5800 10am

D

In 680

A IIIIIIII B

-
-
-

-)_200
y A

InABDO LBOD =600 sin60"=
Bo

=>BD =B0sin60

A UABG GN:xX81- IOAXBD
=IXOAXODSin 60

Req aus: Xr- I OAX OBSin60

= Ix0RxR - 1XOAXOB sing

=

xx10x10 - 5x10x10X3=100(E-
=100(3- 1327 =1007.247-0.495)

=100 x0.614 =61.45qen


